PARTS LIST

ITEM|QTY PART NUMBER DESCRIPTION STOCK NUMBER
1 1 |TB-200-641 2600 X 112MM SAFALOG COMTIMSAF0002
2 1 |TB-200-642 2600 X 125 SAFALOG (OCT) COMTIMSAF0001
3 1 |TB-200-643 3300 X 112MM SAFALOG COMTIMSAF0002
4 1 |TB-200-644 2100 X 125 SAFALOG (OCT) COMTIMSAF0001
5 1 |TB-200-645 1500 X 125 SAFALOG (OCT) COMTIMSAF0001
6 1 |TB-200-646 600MM X 112MM SAFALOG COMTIMSAF0002
7 1 |TB-200-787 1600 X 112MM SAFALOG COMTIMSAF0002
8 1 |TB-200-648 2100 X 112MM SAFALOG COMTIMSAF0002
9 1 |TB-200-649 1500 X 112MM SAFALOG COMTIMSAF0002
10 | 1 TB-200-650 4200 X 112MM SAFALOG COMTIMSAF0002
11 | 1 |TB-200-651 3300 X 112MM SAFALOG COMTIMSAF0002
12 | 1 |TB-200-652 3300 X 112MM SAFALOG COMTIMSAF0002
13 | 1 RS-100-009 DROP ROPES
14 | 1 |RS-100-065 CARGO NET
15 | 1 |RS-100-066 TWIST SCRAMBLE NET
16 | 1 |RS-100-067 TWIST HANG NET
17 | 1 'RS-100-068 3800 SINGLE ROPE
18 | 5 |MOD-600-116 GROUND FOOT GROUND FOOT (112) SUBSTEMIS0004
19 | 3 |M12 X 150 COACH SCREW M12 X 150 COACH SCREW COMA2CSM12X150
20 ' 2 |M12 X 220 COACH BOLT M12 X 220 (DIN 603) COMA2CBM12X220
21 | 9 |M12 X 240 COACH BOLT M12 x 240 (DIN 603) COMA2CBM12X240
22 | 14 M12 WASHER M12 WASHER (DIN 125) COMA2FWM12
23 | 11 |M12 NYLOC NUT M12 NYLOC NUT (DIN 985) COMA2NNM12
24 | 14 |30MM BOLT COVER 30MM BLACK CAP COMPLACAP0001
25 | 5 |400 x 400 x 500 0.083 CONCRETE FOUNDATION
26 | 4 |200 x 200 x 400 0.0163 CONCRETE FOUNDATION

2650

2556

17

11

13

15

/’//
I = Sl
P N
////
= \\\
3 = = \\\\
_— \\
/// = \\\\
- — \\\\
~ - \\\
AN
NN
NN
\\\\i}\\\\ P -
N e
D e
~ -
12
5 ////
;\\\?:\\ P
NG L = -
N
=
\\\\is\
I
8
@
9

UNLESS OTHERWISE SPECIFIED: PROPRIETARY AND CONFIDENTIAL Title:
DIMENSIONS ARE IN MILLIMETERS PRO-500-139 VINE TANGLE CLIMBER
TOLERANCES: THE INFORMATION CONTAINED IN THIS

LINEAR: £2MM DRAWING IS THE SOLE PROPERTY OF Product Range:

: B FENLAND LEISURE PRODUCTS. ANY '
1 DECIMAL PLACE: +0.5MM REPRODUCTION IN PART OR AS A WHOLE PLAYGROUND EQUIPMENT
ANGULAR: +1° WITHOUT THE WRITTEN PERMISSION
OF FENLAND Date:
LEISURE PRODUCTS IS PROHIBITED. 1 5M FFH

O\.P

online playgrounds

26/01/2021

Page:

DO NOT SCALE FROM DRAWING A3

Tel: 01354 638359 www.onlineplaygrounds.co.uk




6193

7238

6892

1500

1500

EPE

MIN SPACE

WETPOUR AREA = 39.0M?2
PERIMETER = 24.0 L/M

7000

(@]
o
LN
~N
\\ i ¥
UNLESS OTHERWISE SPECIFIED: PROPRIETARY AND CONFIDENTIAL Title:
DIMENSIONS ARE IN MILLIMETERS PRO-500-139 VINE TANGLE CLIMBER
TOLERANCES: THE INFORMATION CONTAINED IN THIS
s e ooy | Product Range: PLAY
1 DECIMAL PLACE: +0.5MM REPRODUCTION IN PART OR AS A WHOLE GROUND EQUIPMENT
ANGULAR: +1° WITHOUT THE WRITTEN PERMISSION
OF FENLAND Date:
LEISURE PRODUCTS IS PROHIBITED.
26/01/2021
DO NOT SCALE FROM DRAWING A3

online playgrounds

Tel: 01354 638359 www.onlineplaygrounds.co.uk




f 717

ALL FOUNDATIONS 400 X 400 X 600 DEEP UNLESS OTHERWISE SPECIFIED

500 TYP

FOUNDATION 200 X 200 X 400 DEEP

- 2537 L 1887 X
i - -
o (@)}
Ny ) :r
|
|
|
237 N |
- 9
|
231 |
& D
¥ 0,03"
N |
231 §
— - -
Y \/ !

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
TOLERANCES:

LINEAR: +*2MM
1 DECIMAL PLACE: +0.5MM
ANGULAR: +1°

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS. ANY

REPRODUCTION IN PART OR AS A WHOLE

WITHOUT THE WRITTEN PERMISSION
OF FENLAND
LEISURE PRODUCTS IS PROHIBITED.

Title:

PRO-500-139 VINE TANGLE CLIMBER

Product Range:

PLAYGROUND EQUIPMENT

O\.P

online playgrounds

DO NOT SCALE FROM DRAWING

Date:

26/01/2021

Page:

A3

Tel: 01354 638359 www.onlineplaygrounds.co.uk




1. CREATE THE FIRST FRAME SECTION AS SHOWN BELOW USING THE SUPPLIED

FIXINGS. POSITION INTO FOUNDATION HOLES (DETAIL ON LAST PAGE). ENSURE

UNIT IS LEVEL /PLUMB AND ADD RAPID SET CONCRETE.

| - . 3
R
o
2 <
< 3 2418 _
] SURFACE LEVEL il
NV A
] L

2. WITH PART OF THE UNIT SET IN PLACE, POSITION THE FOLLWING POSTS INTO THE

FOUNDATION HOLES USING THE HORIZONTAL TIMBER TO BRACE IN PLACE, AND
ADDITIONAL TIMBERS TO BRACE WHERE REQUIRED.

i
. 2880 -
o
LN
i
~
It | N P
[ Lo
&_*7>/
2 : : N
< . o
il SURFACE LEVEL ings
I 0
. PROPRIETARY AND CONFIDENTIAL | Title:
DIVIENSIONS ARE IN MILLIMETERS PRO-500-139 VINE TANGLE CLIMBER
. THE INFORMATION CONTAINED IN THIS
TOLELTSIE\‘ACRE.S' +2MM DRAWING IS THE SOLE PROPERTY OF PrOdLICt Range:
1 DECIMAL PLACE: £0.5MM REPRODUCTION IN PART OF AS A WHOLE PLAYGROUND EQUIPMENT
ANGULAR: +1° WITHOUT THE WRITTEN PERMISSION
OF FENLAND Date:
LEISURE PRODUCTS IS PROHIBITED.
26/01/2021
online playgrounds DO NOT SCALE FROM DRAWING A3
Tel: 01354 638359 www.onlineplaygrounds.co.uk




3. AS WITH THE PREVIOUS STEP, ADD THE ILLUSTRATED POSTS TO THE FOUNDATION
HOLES AND BRACE.

o R
. 981 0| tn o
<< - LN
A ~ ™
[I— i
~ —/*I’Fﬁd HED)
Q S Th ]
\o} 552 o . FEE o
q- O 0 q- O
T o T
X B A%
(o)
- L0 g ] L]

4. AS ILLUSTRATED, SECURE THE 'CONNECTING TIMBER' (ITEM 12) TO THE FRAME
ASSEMBLY.

12

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
TOLERANCES:

LINEAR: +*2MM

1 DECIMAL PLACE: +0.5MM

ANGULAR: +1°

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS. ANY

REPRODUCTION IN PART OR AS A WHOLE

WITHOUT THE WRITTEN PERMISSION
OF FENLAND
LEISURE PRODUCTS IS PROHIBITED.

Title:

PRO-500-139 VINE TANGLE CLIMBER

Product Range:

PLAYGROUND EQUIPMENT

O\.P

online playgrounds

DO NOT SCALE FROM DRAWING

Date:

26/01/2021

Page:

A3

Tel: 01354 638359 www.onlineplaygrounds.co.uk




5. SECURE THE CONNECTING BEAM TO THE PRE-DRILLED HOLES AS ILLUSTRATED.

10

)

750

1100

6. ADD THE REMAINING CONNECTING BEAM

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES:
LINEAR: +*2MM
1 DECIMAL PLACE: +0.5MM
ANGULAR: +1°

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS. ANY

REPRODUCTION IN PART OR AS A WHOLE

WITHOUT THE WRITTEN PERMISSION
OF FENLAND
LEISURE PRODUCTS IS PROHIBITED.

Title:

PRO-500-139 VINE TANGLE CLIMBER

Product Range:

PLAYGROUND EQUIPMENT

O\.P

online playgrounds

DO NOT SCALE FROM DRAWING

Date:

26/01/2021

Page:

A3

Tel: 01354 638359 www.onlineplaygrounds.co.uk




7. BEFORE THE UNIT IS SET IN PLACE, HANG THE ROPES - THE UNIT CAN BE
MANEUVERED TO ENSURE THE ROPES ARE TAUT

750

600

600

i —y S e —
C___ j )
//
s 0{
//
i’
7
7 |
Z s
< 7 -
7
A -
/ °

1759

1289

651

650

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES:
LINEAR: +*2MM
1 DECIMAL PLACE: +0.5MM
ANGULAR: +1°

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS. ANY

REPRODUCTION IN PART OR AS A WHOLE

WITHOUT THE WRITTEN PERMISSION
OF FENLAND
LEISURE PRODUCTS IS PROHIBITED.

Title:

PRO-500-139 VINE TANGLE CLIMBER

Product Range:

PLAYGROUND EQUIPMENT

O\.P

online playgrounds

DO NOT SCALE FROM DRAWING

Date:

26/01/2021

Page:

A3

Tel: 01354 638359 www.onlineplaygrounds.co.uk




s

500

|Z4IRN:

=l

566

.

2444

17

1950

1950

8. FINALLY, ENSURE THE UNIT IS LEVEL AND PLUMB. ALL FIXINGS HAVE BEEN TIGHTENED

AND PROTECTIVE CAPS IN PLACE. ADD CONCRETE INTO THE FOUNDATIONS AND LEAVE

48 HOURS TO SET.

CONCRETE

APPROX. 56 DEEPER/CUT OFF ——

i

|
50
R

100

REFER TO PAGE 3

v ,

S

N

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES:
LINEAR: +*2MM
1 DECIMAL PLACE: +0.5MM
ANGULAR: +1°

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS. ANY

REPRODUCTION IN PART OR AS A WHOLE

WITHOUT THE WRITTEN PERMISSION
OF FENLAND
LEISURE PRODUCTS IS PROHIBITED.

Title:

PRO-500-139 VINE TANGLE CLIMBER

Product Range:

PLAYGROUND EQUIPMENT

O\.P

online playgrounds

DO NOT SCALE FROM DRAWING

Date:

26/01/2021

Page:

A3

Tel: 01354 638359 www.onlineplaygrounds.co.uk




